A Qe




N & ol & AF S E A A
20108 = 208 SBEX22SEE
A= =23 A AR
B 200 MQl4Y
B o: 210 FAEMISISY
8 22 ABRAY (S
AR RN -F--F2 0 & 24 & 0] A o HnE2
=R | 2,608,300 208, 100 2,400,200
=35 2,608,300 208,100 2,400,200
2N B 2,608,300 208, 100 2,400,200
200 M2l 4l 208,300 208, 100 200
210 AT H 2+ 8,300 8,100 200
212 NBESY 2,300 2,100 200
212-08 JIEIAIE 2 2,300 2,100 200
OsZHA £XASE 2,300
216 0 X+l 6,000 6,000 0
216-01 BB 20/ X+ 6,000 6,000 0
SIUENPEN- 6,000
220 AT H 242l 200,000 200,000 0
222 2013 200,000 200,000 0
220-01 =M H 2L 0i 2 200,000 200,000 0
O=HHYNS 200,000
500 2X2 2,400,000 0 2,400,000
510 2 DEE3S 2,100,000 0 2,100,000
511 2NEE3S 2,100,000 0 2,100,000
511-02 B - MU HSHIHE RS 2,100,000 0 2,100,000
OsZHNZY 2,100,000
520 Al,CHIBE3S 300,000 300,000
521 Al - SHIEZEZES 300,000 0 300,000
521-01 Al - SHIEZ2S 300,000 0 300,000
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01 Al 2,391,360 0 2,391,360
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& 298,920
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